ELECTROMAGNETICS - II SECOND MIDTERM EXAM

Dr. Salih FADIL
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#1) An infinitely long wire
carrying current /=14 has four
sharp 90" bends 1 m apart as

shown in the figure. Find the B at
point P(1,0,0).

#2) A long straight wire carrying
a current [=1004 and a

triangular loop of wire are shown
in the figure. Calculate magnetic
flux y that links the triangular

loop for b=4a=40cm and
by = 45"

#3) A particle with mass 1 kg and charge 2 C starts from the rest at point (2, 3, ~~l4.) in a

region where E=-4 Eiy Vimand B= Sa Wh/m?*. Calculate:

a) the location of the particle at 1 =1 5.
b) Its velocity and K.E at that location.
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